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| Time: 10 Minutes | Paper Math 7(T-1) |  Total Marks: 10 |

| 2nd Month, 3rd Week, 4th Day | Exercise 1.17 Complete |

0.5x6=3) -/ Iz
(i) The square of 111 is: :9&/(111
@| 12231 |(m| 12321 @] 12132 |@| 12232

(i) Which of the following is a perfect square? ?‘Ld‘/g}; .,gwié,uu 3l
(a) 431 (b) 441 © 451 () 461

Q.1. Choose the correct options.

(iii) Which of the following is not a perfect square?

?+u3’é/JIHQVuf¢u:ngs@/;

(a) 81 (b) 121 (© 201 () 441
12 12
(iv) What is the square of 15 ? ?+“b(é/g 15

144 144 144 144

@ s P %5 |9 35 |9 s
(v) The square of 0.23 is: 2‘45/K0.23

@@| 0529 |m)| 000529 [@]| 05029 |@]| 0.0529

(vi) Which of the following is the perfect square? ?‘Ld'/g}; Vc)J(LU':J“ 3G

(a) 1225 (b) 529 (©) 6241 (d) |All of these(l}’d
¥ Answer the following questions: - ;..,«LQLQJJVJ“ 3t
Q.2. Find the square of the following natural numbers. (1x2=2)

UL 35 38
1 230 (i) 279
Q.3. Check whether of the following numbers are perfect square or not:
(0.5x4=2)
-U'-?;LU,?&/MJ"JJ@”IQ/U'«"Z
1 912 (i) 1650 (iii) 2100 (iv) 3025
Q.4. Find the square of the following numbers by using the property of
perfect square. (1x3=3)

IRl st St S8

(i) 0.33 (i) % (iii) 821
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